The skeleton

The skeleton is made up of 206 bones
which are a type of tissue

Bones have a blood supply and are a
living tissue

Respiration is the process in which energy is released from the molecules of food which you eat
Respiration happens in the mitochondria of the cell
Aerobic respiration involves oxygen, it is more efficient as all of the food is broken down to release energy

glucose + oxygen — carbon dioxide + water
The glucose is transported to the cells in the blood plasma
The oxygen is transported to the cells in red blood cells, by binding with haemoglobin
Carbon dioxide is a waste product and is transported from the cells to the lungs to be exhaled

The skeleton is part of the muscular-skeletal humerus_
system . . vertebral column
The four main functions of the skeleton are:  (backbone) i
= Tosupport the body —to keep you

upright and hold organs in place

Protect organs —such as the skull
protecting the brain

Anaerobic respiration is a type of respiration which does not use oxygen, it is used when the body cannot supply the
cells with enough oxygen for aerobic respiration

Anaerobic respiration releases less energy than aerobic respiration
glucose —lactic acid + carbon dioxide

Movement — by working with muscles
to allow you to move

Making blood cells —the bone marrow

The lactic acid produced through anaerobic respiration can cause muscle cramps
produces red and white blood cells

Lactic acid will build up if there is not enough oxygen present in the blood supply to break it down. This is known as an
oxygen debt

Fermentation is a type of anaerobic respiration which occurs in yeast Joints occur between bones and allow movement, there are three main types of joints

* Instead of producing lactic acid, yeast produces ethanol, which is a type of alcohol Hinge Ball and socket Fixed
glucose — ethanol + carbon dioxide For back and forward For movement in all Do not allow movement,
This process can be used to form alcohol to drink or to allow bread and cakes to rise movement, e.g. knees directionse.g. hips e.g. skull
Joints have three main types of fissue:
Ligaments Cartilage Tendons
Muscles Connect bone to bone  Coals the end of bones  Connects bone to muscle
Muscles :are atype of tissue which allows hip bone as a profection
. A n i ma I S QAc;!vqtde Tnmv:;:lalnun tendons which in turn pull on bones

. to allow movement
Knowledge organiser

Muscles like the triceps and biceps are known as
antagonistic muscle pairs, they work together
—as one contracts, the other will relax
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